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G 12422432+, ..... +n2=1/6 n(n+1)(2n+1) EHEZIEEENE AL -
pf:
19 n=10F,/£:=12=1/6(1)(1+1)(2*1+1) , B EE R KIL -
20 Fen=ki%, [, B112+22+. ... +k2=1/6k(k+1)(2k+1)
Hilk+10E, /E50=12422+ ... +k2+(k+1)?
=1/6 k(k+1)(2k+1)+(k+1)?
=(k+1)((2k2+k+6k+6)/6)
=(k+1)((2k2+7k+6)/6)
=1/6(k+1)(k+2)(2k+3)=£ =t
SO EFAN A a] A, 12422432+ ... +n2=1/6 n(n+1)(2n+1)
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Heg 124+32452+...... +(2n-1)2=1/3 n(2n-1)(2n+1)¥HEE IFEBEBNE AT -
pf:
10 n=18%, £50=12=1/3(1)(1)(2*1+1) =B =, BIFEZE R 1T -
20 n=ki%, 05 1T, BI12432+ ... +(2k-1)2=1/3k(2k-1)(2k+1)
Hilk+ 10, = 0=12+3%+. ... +(2k-1)%+(2k+1)?
=1/3 k(2k-1)(2k+1)+(2k+1)2
1/3(2k+1)(k(2k-1)+3(2k+1))
1/3(2k+1)(2k2+5k+3)
=1/3(k+1)(2k+1)(2k+3)=74 =
SOR BER R4 AT &, 12422432+, .....+n2=1/3 n(2n-1)(2n+1)
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NABIEEE - 5814243+, +(n-1)+n+(n-1)+...+3+2+1=n2

pf:
10 En=18%, =1, 80=12 £=63 B[REFN KL -
20 FEn=kiF, FFCE T, BT1+2+3+. +(k-1)+k+(k-1)+...+3+2+1=k?
Alln=k+10F, /e 3(=1+2+3+.. +(k-1)+k+(k+1)+k+(k-1)+...+3+2+1
=k2+(k+1)+k
=k2+2k+1
=(k+1)2
=a3
SO B EREEA AT 41, 4243+, +(n-1)+n+(n-1)+...+3+2+1=n2
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2n+1
g (1+1/1)(1+1/3)(1+1/5)......(1+1/2n-1)> (n22,neN)
pf:

10 Bn=21%,/£5=(1+1/1)(1+1/3)=8/3 ;A== ,EHB8/3> , WAEA KT -

20 =k, R E T, BI(1+1/1)(1+1/3)(1+1/5)

V2k +1
...... (1+1/2k-1)>

Hiln=ke+ 16, /2 3(=(1+1/1)(1+1/3)(4+1/5)

...... (1+1/2k-1)(1+1/2k+1)
V2k+1
> (1+1/2k+1 )=2Vk2f2+ 1
e VER3 T VRS JZk+1)(2k+3)

=(K+1)((2k=+/ B8
4k2+8k+4>4k2+8k+3,B:584>3, B A I, B E n=k+ 105, A E VAT -

910 20 o] 41, [RAS N EEREN22,neNE AT
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https://zhidao.baidu.com/question/10747961

BInfEZT EUEEE 2 FERN?

https://www.quora.com/\Why-is-the-sum-of-the-first-n-odd-integers-n-2

RZEnsE NI
https://zh.wikipedia.ora/zh-tw/%E 7 %9A%AE %E4%BA%9A%E8 % AF %BA%ES5%85%ACY%E7%90%86
[RIB RAAR
https://zh.wikipedia.org/zh-tw/%E6%95%B0%ES5%AD %A6 %E5%BD%92%E7%BA%B3%E6%B3%95
BllE— :

:https://youtu.be/hyvTI0O36PmMA

BlE_ :

https://youtu.be/Dgy91ZafMY0

BB = :

http://www.pat-soi.org/wp-
content/uploads/2017/08/%E6%95%B8%E5%AD%B8%E6%AD%B8%E7%B4 %8DY%E6%B3%95%E7%B7%
B4%E7%BFE%92%E9%A1%8C%E7%AD %94 %E6%A1%88.pdf

fIIEEry -

https://kknews.cc/education/605I2xp.html
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